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��	�M?8�7X,��K�6
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��Y(�$���.��<A> ��	�����X�	���9�	������	������RJ4	E���
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��Y(�$�����@A�	�@��Bx���y�7�A�J��	�S�����	�	�@,.Y��

��Y/�$��+��,��	��%�!�	�RJ4	��EMev�e���	��D	��.�+	�����!"�	��8(/g��Y��

��Yc�$�+��,��	��%�!�	�RJ4	��EMev���81g��e���	��D	��.(/g�Y�e���	��D	��?�=�i� �
	�(/g��-��	

�8�
�7=�^WQ�E�V��	�j�G��.��3?;�J��	���1�)�;3�	��%�!�	�&���I�-?>��J��	���� �	�78�9��	��;���,�
�Y
�$�&�?��F
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Z
#	��S���3�#	��S���� �	���e���	��D	(/g��e��C�J�	��e����=��C�	��
��?<3�	�u���0,00055��1,00866��235,04394��141,90931��90,90565��

1u = 1,66.10
-27

 Kg                ,        1eV = 1,6.10
-19

J        ,            C = 3.10
8
 m/s  

     ,       M(U) = 235 g/mol�    ,   1u = 931,5MeV/C
2��k����=��	���)���mol

-1
 :�NA = 6,02 10
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������	�0G�%�[�9�K1��^@>��	�^�,��K2�M�'��0m���	
Y��
�-��7<���	�M , ��	�6
8�	X����	��V��7<��Uc��.C�	���#@)�F<3��	�-!)�.���)��

(��Y
�$����@�	�q>]����%������>.�@��BTY
2��Y(�$��SB���?8�6��,��7.�A.����%�RJ4	T��+�	@?��r�s�	���@�	����J�LCY��
(��Y/�$���.�����	�-��^���^�A9�)�+�@>��	��%�!�	�RJ4	R�M��D	��)*)*�	�^WQY��
>����^��<����
�	�?��`�`��	��(��T��

�\?V�K1�� ^@>��	� ^�,��� q,�9�� Zk� K� @�@���.�F<3��	� �,"�K2�� 0m���	��.b�� 0m���	�M�	(���l,��-�� K
�t��	��?��W�B��d�>�A�t = 0��

�-����3�#	�u�;O�	G���8�+��>8������	�+@]�0.�	�	�G	�R
� �������)�+�	@�	���C��@��.U = KiY��
/��Y
�n������	��;��,��-��	���?m�9��	�����A��	�@��	Uc�F<3��	�-!)�.���)Y��
/��Y(�$��7.�A��	��d*Qv��SB�RO��-��	�������.K�+@�s.���w���1�)�;=���)*)*��M?8�^�X,?�Y��
/��Y/�$��-��7<���	�M , ��	�6
8�	d��V��7<��������	��	�Uc(t)���.C�	���#@)�Y������	���>A��@��BUc(t)�Y

�������	>���_�:�(�
���	���Pc�RD(�Q2�S<���	�e�
�f*	���+��V`�(��
��;s������l,��-����,�t= 0s����O,�	�q�?�=�+���J�	�2�,.�x�u�M?8����,����>s.�-����1@)��8�
�S�@)��

= 0,91 g/cm3�y���;�?�=����=�Km = 35g�4���;�OV = 33,5 cm
3���

�ZJO�	�M?8�71�J�	�j�G��.���>!��	�2�3�4#	�+�%�+@]�-!A���f = K.v���
�M , ��	� M?8�7X, �� 71�J�	� -�� ���3�	� �=�4� 0>��� �.� �  3��� -3�� E�
�,)��>��.� ->��O�� R�=��� 7�A�J�

��.C�	���#@)����3�	���X%�C=�.��8�
��	��V���7<���	t���Bv = f(t)�YP�6
8�	7Q��
�f�@��ZJO�	��=�4S���,��	�5�*=�*Qv�����?���w�z�>�A���*�	��>�s���)��>��.�0������>J ��)0z ����,��q��.
79
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�$�������������������������������������������������������������3�	�M?8���>!��	�{���	���;O�.�����>��M?8�Z
�	��
(�n� ���>�s���)��>����	�0���?���>J ��)����3�	��=�,����?m�9��	�����A��	�SB���)� K���� ��-��<�	�S�����	�\�>!�)

-����	�73"�	�M?8�R�3����
dv/dt = A-B.v���.�7=����>A��@�@,��0.A���B������������������������������������������������������������Y��

/�$����)�<�	�SB�\�,�A = 1,29 m/s
2��-!A�g = 10 m/s

2������������������������������������������������������������������Y
c�$����)�<�	����%�i� �
	�����@,�	��8�J�	����%���8�K�S��>��	�^��A�
�)B��;�@4���@4��Y���������������������������������
gn�������)�J�	��������	����A�)A��B�����G��3���K����#@)�ZJO�	��8�
����%���>�������9�3)�E�J4��.�����	

���%WA�	�^��A�
�)�5�_���.C�	����vi+1 = vi + ai |t�����ai = A-B.vi�
-����	�^�@O�	�-�����@��	�i1�� �	�M?8�7X,����

7��6��5��4��3��2��1��0��i 

0 ,56��0,48��0,40��0,32��0,24��0,16��0,08��0��ti (s)��
0,169��0,169��0,167��0,165����0,143��0,102����vi (m/s)��
0,00��0,00��0,02��0,03����0,20��0,51����ai =dvi/dt (m/s

2
) 

��
g�$�
���+�!s�	����%�.|t������������E�J,�	�-���?�A�J��	��
g�$�(�������������zW8B�^�@O�	�Z��B�����B�����G�^��A�
�)��
g�$�/��,�,����9�3)�2�3�4#	�+�%���*���Z��q�B��.�\�,���Y

���5W�	X03



��
��

0,25��
1 

0,5

0,5

0,25

0,5

0,75

��
��

0,5

0,75

0,5

��
��
��
��
��
��
��
��
��
��
��
��
��

��

0,5

��

��!���	2�3����
�	��3��4�5�	��
��<��4�5�	�9��
�	��:�;$������ ��	�9��
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Y

���3����
�	�P7�RD(�2���Q������������������������������������������������������������������������������:����
#*	�g�f�6&�5���#	�!
�5�)��3
D	�6�4C6H8O6����.���9��)�j��A��	C�@����-A�>G�^C�s.�K�����Q��q=	�����NQ�+@8�-�
�S���?�	���X8�-���Y���.�����r	�%B�73]�M?8�����@�X�	�-��L�>���H����3�	��	�>�s.�-��qA� X���3�����=

C500���BC1000�YS� 
D	������D	��e�lA�	�����M?8�@8�J���K�ZJO?���" .�K�{�@A?����N.�R=�.��d��Y
�Yv���q�D�f�J4�@���>�A����.���9�	�	@d��3����sJ��	��B�H�N�	�������x,��H	�;�	���OJ=�	�0.�@J=��

h���(	�2����	�J	S�1��i-���i>����c���K
���&���D�;$^��
1�[����$���5�	��=;"LC

� ��O4�*Qv�V = 100ml��78�9��	�e@����	��V��-!A��Zk�78�9��	� 	*d���!��f�@���S���?�	���X8��.x��0.
��.C�	�6
8�	j���


��Y
�$�8�9��	��8�
��8��>8���#@)�7xY��

��Y(�$����%�RJ4	��l,?�	�@ 8�78�9��	��8�
t = 100min�Y��

��Y/�$�q���%��@4��78�9��	�FX���.u�j�8��
-��^��V�!4������K���	�����MC6H8O6/C6H7O6

-��
�R�*�0,5g��-��5�)��3
D	�6�4��.200 ml��}�����~��s�	�H���	��.pH��q�?8�7X,��	�-1���	�^�?,��	
�@O �pH = 3���

(��Y
�$�H���	�0.�5�)��3
D	�6�4�78�9������A.�R�=	��
(��Y(�$�^�?,��	�C�=���RJ4	��
(��Y/�$�-?=���w�f��@��	�^�,��	�SB���)��
(��Yc�$��
��@��	�����C�?����N�,�	���)�k�RJ4	Y��
>�����$���G�k�+��G�:����"*	�l�f����"C500���

���.���9�	��.����%�\,J�C500��-��q>�*��Z�100ml��	�H���	��.�^�?,��	�	@d��.�*Qv��K�~��sVA = 10 ml�
� zC�=��� e����X�	� @�J=��@�d� ^�?,�)� z���A��CB = 2.10

-2
 mol/L��K� R
� .� S�?.� F]�=� ^��A�
�)� K

�ZO,�	����m'�@ 8����3��	�M?8�7X, �VB = 14,4ml����A��	�^�?,��	�	@d��.Y��
/��Y
�$��+���A��	�78�9������A.�R�=	��
/��Y(�$�4�+��.����=�RJ4	���.���9�	��.�r�%�-��5�)��3
D	�6�C500Y��
/�� Y/�$�� +@4���)� i� �
	mg�� ��.���9�	� r�%� -�� 5�)��3J�	� 6�4� �?�=� KC500��+��]I	� ^��@.� �=�	� Z�

C500Y��
��c��^����D�����G�:����
#�	�g�f����"��

��;�?�=�������)��.�~?s�J�170g����O4V = 82 ml����XA�	��.Y��

D	�6�4����=�@�@,���3���5�_������.�����+���A�)�������>�	�z*d�-��5�)��3���

•�6�4� +@J=B� M�'� ����� ��.� q�?8� 7X,��	� ��XA?�� �	���)� ����	� -1� �� �.� �.�?A.� ���=� ���m�)
�������	�����A��	�\���5�)��3
D	���

C6H8O6  +  I2    �    C6H6O6 + 2I
-
 + 2H

+

•��>=���� ^�?,.� �!
	�)� -�>���	� ����	� -1� k� ���A�� Zk��@,�� U�4� K� e�?A.� C�=��� �_� e����X�	� ���
-����	�78�9��	��

2S2O3
2-

   + I2   �     S4O6
2-

   + 2I
-

���O4������-��7Q@�V1 = 10ml����O4��^����>�	���X8��.V2 = 10ml�zC�=�������	�-1� ���.��.
�C2 = 5,3 10

-3
 mol/L�K�e����X�	������>=����^�?,.�ZO4�S	�a4W ��K�R
� .�F]�=�Zk�C�=���	��_

�C = 5.10
-3

 mol/L���d����3��	�M?8�^�X,?��j�N��	VE’ = 8,7ml���
c��Y
�n����-��+������	�5�)��3
D	�6�4�+��.����=�RJ4	10 ml�^����>�	���X8��.Y��
c��Y(�n���
��@��	�������>�	�-��5�)��3
D	�6�4��?�=�i� �
	Y��

�-!A���M(C6H8O6) = 176 g.mol
-1
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